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Transformations of Quadratic Functions

q(x) = p(x — 2) + 3 is the fransformation of the function
p(x) = (x — 5)% + 1. Write the function for g(x).
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s{x) = r(x + 3) — 5 is the transformation of the function

r(x) = x% — 4. Write the function for s(x). /6{ k g O}Okﬂﬂ 5
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Let's Practice!
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1. Consider the function below.
h(x)=—=(x+2)2-5

If g(x) = h(x — 5) + 11, sketch the graph of g(x).
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2. The table below models the function r(x), whichis a
fransformation of s(x). Sketch the graph of s(x) on the
coordinate plane.

rx)=s(x+2)—-1
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3. The graph on the left models b(x) = ¢(x — 2) + 3. Sketch
the graph of c(x) on the coordinate plane on the right.
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4.

The table below models a transformation on f(x).
Complete the missing values of each ordered pair.

£ fx+3)-1
x =12 y =145 x' = O y'=|YY
xX= 6 yzgé x'=2 yv' =25
x=—4 y= l‘? x'=/‘7 y' =16

February 21, 2020

bk, dovn |

></f X )//\(/V)Q



section 5 topic 11 2-18 and 2-19 p2.notebook February 21, 2020

Y ( \/2) el BEAT THE TEST!

1. Consider the function below. Q CK\ \/U‘tQ% (‘3) O}
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If g(x) = 4f(x + 3), which of the following statements are
true® Select all that apply.
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ii The graphs open in same direction.

O The graph of g(x) is wider than the graph of f(x).
O The graphs share the same vertex.
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O The graphs share the same y —infercept.
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